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According to the National Health Policy 2002

What is the percentage increase in
dispensaries?

(A) 400 % (B) 200 %

(C)370% (D) 450 %

What is the number of doctors in 1951 ?

(A) 61,800 (B) 55600

(C) 65400 (D) 64600

What is the increase noticed among the
teachers in the year 1988-99 ?

(A) 10,000 (B) 12,000

(C) 15,000 (D) 21,000

In which year India has the highest literacy
rates ?

(A) 1998 (B) 1999
(C) 2000 (D) 2001
Literacy level in the year 1951 was -
(A)10 % (B) 18 %
(C)25% (D) 30 %

What is your projection about India’s literacy
ratein 2010 ?

(A) 70 % (B) 60 %

(C)85 % (D) 95 %

What is the percentage of male members in
1999-2000 in urban areas -

(A)7.3% (B) 5 %
(C)6.2% (D)4 %
Domestic work by house wifeisa ........ activity.

(A) Economic
(C) Both of them

(B) Noneconomic
(D) None of these
is an example of economic

activity.

(A) A farmer ploughing his field

(B) Scholarship to a student

(C) Domestic work by house wife

(D) All the above.

activity consists of all service

occupations -
(A) Primary (B) Secondary
(C) Tertiary (D) None of these

Population becomes human capital when there
is investment made in the form of-

(A) Education (B) Training
(C) Medical care (D) All of the above
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resources are capable of bringing
about an improvement in them by their own
effort.
(A) Land (B) Capital
(C) Mineral (D) Human
Activities which contribute to the flow of goods
and services in the economy are called-
(A) Economic activities
(B) Non-economic activities
(C) Both (A) and (B)
(D) None of the above
A large population need not be a liability. It
can be turned into a productive asset by
investment in-
(A) Human capital (B) Physical activity
(C) Land (D) Labour
The sector which includes agriculture, forestry,
animal husbandry, fishing, poultry, farming and
mining-
(A) Primary sector  (B) Secondary sector
(C) Tertairy sector (D) All of the above
A process where by we add to the stock of
human resources, but not human beings also
in an economy is termed as:
(A) Human resource
(B) Human capital
(C) Capital formation
(D) Human capital formation
The plan outlay on education has incrased from
Rs. crore in the first five year plan to
Rs. corre in the tenth five year plan.
(A) 125, 48253 (B) 151, 43825
(C) 170, 42385 (D) 190, 52834
When the number of person employed in a work
is more than what is required. It is known as?
(A) Seasonal unemployment
(B) Frictional unemployment
(C) Disguised unemployment
(D) Secular unemployment
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